ApKkasbl Aa npakTbiKaBaHHAY

IMp. 1. 1. A=0,60m; T=8,0c; v=0,13Ta. 3. S=15m. 4. T =0,33¢c;

v=38,0Tm =19 p—ia. 5. x(t) = 20cos(2nt) (em) = 0,20cos(27t) (m).

Ilp. 1-1. 1. T=0,33¢c; v=3,0Tm; 0=19222 2 y=12Ty m=7528E2F 3 , -0,10 M;
C

IIp.

IIp.

IIp.

IIp.

C M1H

a,.. =0,22 c% 4. x; =8,4cm. 5. x(t) = 20cos(2nt) (cm). 6. x(t) =1,0sin(nt) (cm); ¢ = 2,57;

x=1,0cm. 7. x(t)= 10s1n(41tt+ )(cm)

.2.1. T=738c; v=0,14Tm. 2. [ =25cm. 3. k:16ﬂ. 4. Al =10cmMm.
M

5. ApgmavacoBa. 6. I, =28cm. 7. T=1,3c. 8. 1=24,87cm, €¢=1,9%. 9. [ =25cm. 10. [ =4,0 ™.

JRE
11. m =1,05kr. 12. IlaBsumiubutaca ¥ n = J2 =14 pasbl. 13. n = kuk, .

3. 2. W,

Mex

Ry + k

=0,80 ox; h,, =80cm. 3. AW, =0,10 lox; AW, =0,10 Jx.

ma: Kmax

4.m,=8,0; n, =0,78; n; =0. 5. W =52mox; W, =19 m[x; W, =33mx. 6. W, =0,13 [Ix;

W, =50 mIlox; x(t) = Hcos(32t) (cm).

7. n—— 8. W=2rv’A’m. 10. A=40cm. 11. x, =2,4vm. 12. A =

T (W )max

T
2V max W dmax sm 2Ttt. 13. T=9,1c. 14. s =8,9cm. 15. H =150 m.
2m

4. 2. Tna nikBiganeli MarubiMara pasaHancy. 3. v =302, 4, [ =11,0cm. 5. [ = 63 cMm.

T

5. 1. v=75M. 2. T=18¢c; A=50mrm. 3. T=2,9¢c. 4. v=1,2M1.
C C

5.1=0,63xm. 6. h=50km. 7. u=0,705M;  =31M 8 L=1,1-10°m. 9. [ =2,7xMm.
(¢}

C

. 6. 1. At, =30¢c; At, =2,0c. 2. A, =6,0mm; Ay, =1,4Mm. 3. [ =0,34 M.

4. H=1,5-10°m. 5. 1=0,26 k™. 6. [ =0,45km. 7. h=2,0cm; d =5,0cm. 8. [lamenmbuiacs y k= 3

passl. 9.

t=11,2c.

7.1. T=12wmc. 2. T=0,89c. 3. v=2386xI'n. 4. [laBaniusimnma (DaMeHIIBIIA) V 4 pasbl. 5.

U
a) U= TO =0,71U0,; 6) U =-0,71U,. 6. 3mandenia an
2

1,2 u® ga 0,14 nd. 7. He; naBsamiubinns aboaBa sHausHHi ¥ 1,24 pasa. 8. T = 0,5 mc;

I(t) = —13sin(4n-10°) A; (W,)

= (W), =10Mx. 9. £ =2,5. 10. Hamenmsimua § k = %

pasbr. 11. ¢, =0,71mc. 12. W, = 0,12mox; W, = 40 mg/l:x. 13. C, = 60 mx®d. 14. v, = 724 I'm.

15. T, = 8,0 mKc.

IIp. 8. 1. I, =10A; T=1,0c; v=1,0Tw; I, =1,3A.

2. I(t) =

3. I(t) =

~0,30sin(314¢) (MA); I, = -0,30 MA; I, = 0,30 MA.

3,0sin(157t) (MA); I, = 3,0 MA; I, = -2,1 MA.



4. gq(t) =20cos(1570¢) (MKn); ¢, = -14 mKn; ¢, =19 mKur.

5. v=25Ty; U=200B. 6. v=50Tu. 7. U, =6,2B.
9. U, =40B; o =157 %; v =25Tm. 10. U(t) = 200sin(100xwt) B; U, = 0,32B; U, = -0,64B;
U, = 0,96B. 11. I(t) = 0,27sin(1007¢) A. 12. Q = 6,1-10° II»x = 6,1 T'[Ix.
13. £(t) = 2nnBScos(2nnt); €= 0,19B. 14. I, = 0,25 A; I, =2,0 A. 15.a) I, = 4,0 A;
6)I,=4,04;8) I, =2,5A. 16. 1, =4,04A; I, =2,3 A.

IIp. 8-1. 1. IlaBbimatouss; B = 8. 2. =82 %; 3. N, = 6000; k= %; y MepIlacHai, TaMmy IITO TaM cija
ToKy Oonbiast. 4. [lanixkarousr; £ = 0,43. 5. U, =9,4kB. 6. N,; =6; Ny, =60. 7. I, = 2,0KA;
I,=4,3xA.

IIp. 9. 1. T=50Hc; v=2,0-10"Tu. 2. I =0,90 kM.

3.4,=41-10"m; [,=8,2:10"m. 4. N=7,5-10°. 5. 1, =30xm; A, =0,10xm. 6. A =7,5xKMm.
7. 13mM<1<0,10xmM. 8. d, =5,6 Mmm.

IIp. 10. 1. t=493¢c. 2. v=1,95-10° M 8. k=1,135. 4. 1=2,00mc. 5. I =1,7xm. 6. n=1,52.
(¢
IIp. 11. 1. ITacrabaenne (mimimym). 2. N =5. 3. Ilacinabaenue (mimimym). 4. AciaOieHHe.

6. Ax =0,092mm. 7. A =5,6-10" m.

Ip. 12. 1. 0=6,2°. 2. N=1,13-10° *° 3, N =1,3-10* 22¢ 4. m__ =3.

M cM max

5. m=3; 6,=25% 6, =39% 0, =56°. 6. Y gpyrim napaaky. He samexsins. 8. ka = 681 HM.
9. Mpyraa pamorka. 10. m . =3. 11. a) m, =2; 6) m,,, =5. 12. A0 =15,4°.13. A, = 700 M.

IIp. 13. 1. a=37°. 2. H=6,0m. 3. Tak, marubima; x =4,4m. 4. b=1,0m.
6. u=0,602. 7. D, =0,6bm; D, =0,85m. 8. n=3.
(6]
Ip.14-1.1. d=2F =R. 2. d=32cm. 3. F=12cm; R=24cwm. 4. D = 2,3 gurp. 6. f = —6,0 cm (Bimapsic

yayubl); H = 2,4cm. 7. d =7,5¢cm. 8. d = 3,6 m.

Ip. 15. 1. H=53m. 2. n,, =0,89. 3. a=41° 4. o, =82°. 5. o = 51°. 6. o = 49°.
7. n,=1,59. 8. 6 =80° [=44cwm.

IIp. 16. 1. n, =1,5; n, =1,3; n; =1,8. 2. n, =1,6; n, =1,4; n, =1,8. 4. [ =22mm. 5. h = 2,0 mm.
6. [=22mm. 7. d=65mm. 9. §=21° 10. n=1,5. 11. (p=%; a:ﬁ:%.

IIp. 17. 4. 36ipanpuas; F =18,3cm. 5. d=24cm; h=1,8cm. 6. d=30cm; I'=0,67. 7. d =5,8cm.
8. F =15cwMm.

Ip.17-1. 1. D = 6,8 nutp. 2. d = 62,5¢cm. 3. h =2,7m. 4. F = 8,3c™m. 5. D = -2,7 nurp.

6. D =2,9 nurp. 7. D, = 5,3 10? aorp. 8. T =2,2mc. 9.a) f =300wMm; 6) [ =158 mm; B) o = 8,99°%



r) o = 1,06° n) %: 8,48; e) I'=1T, T, = 8,55.
Mp. 17-2. 1. [, =0,15m. 2. v=10,80c. 3. 1, = 1,9 MKc. 4. v=0,80¢; T =5,07mer. 5. 7, =1,4 MKc.
6. P=66cm. 7. S =0,60m>. 8. v =0,95c.

Ilp. 18. 1. E=9,0:10" Txx. 2. m =9,1-10% &r. 3. Am =3,5-10° r.

4. Am=1,4-10" gr. 5. v=0,82c. 6. E, =6,0-10" ITxx; €¢=4,9%.

E E E
Ilp. 19. 1. E=3,6-10" Ix. 2. E, =3,3:10" Ix; —2=2,4; —> =6,0-10°; —* =6,0-10°.
1
El El El

3. Vo =5,0:10" T, 4. A =2,3-10" .

5. A, =4,25B; N =3,8-10". 6. N=1,4-10>. 7. E™ =6,27-10" IIx; v

m;

o =1,17-10° M,
C

8. A, =200B.9 p=1,11-107"" 10. 1 =3,0-10" m. 11. v, =4,0-10° ¥ 12.
C (¢}
_o7 KI'* M

A, =38,25B.13. A=5,1-10" ™. 14. p=5,3-10 . 15. v=2,8-10" T'm.

(¢

16. v=3,7-10°M. 17. p=1,7-10* "™ 18 A+ =0,34K. 19. L =1,7-107 m.
C C

IIp. 20. 1. N =6. 2. DHepria arama maMeHIIbLIacA Ha AE ~ 2,6 5B ~ 4,1-107" .
3. 3 yspoyuio N =5 Ha y3poBeHb N =1; 3 y3poyHio N =1 Ha y3poBeHb N = 5.
4. AE=4,1-10" I’z = 2,6 5B. 5. AE=12,13B. 6. %, =2,3:10" m; %, =1,6-10" m; Ay =2,9-10" m.
7.v=2,0:10"Tm; 8. v=2,9-10"Tu; N=3; r=4,8:10""m; N=3.9. E=1,6-10"Ix.
10. 7, = 4,810 m; 71300 = 4,8:10° M. 11. n =4,8:10°, E, = -7,2:10"5B. 12. n=1,2-10%.
13. 7, = 4,810 . 14. %" =1,1-10%. 15. 1 =1,3-107 m.
Ip. 21. 1. A4, =225; A, =131; A, =91. 3.a) A=11; N=5; Z=6; 6) A=19; N=10; Z=9; B) A =40;
N=22; Z=18; 1) A=64; N=35; Z=29; m) A=55; N=30; Z=25. 4. a) Kanbngsiii (Ca);
6) marwiit (Mg); HeoH (Ne);
pasepdapariii (Rf). 5. a) Asor (N); 6) antominiii (Al); marmit (Mg). 6. 1, = 6,25; n, = 6,20.

7.V =7,2-10%wm?; 1

HYKJI HYKJI

=2,4-10%wm; F

HYKJI

=40 H;.
IIp. 22. 1. Hetitpou (¢n). 2. a) [Li+ 1H - [Be+ gn; 6) iLi+ H — jHe+ sHe; B) tLi+ H — $H+ 3H+ p;
r) iLi+H - %Be+Jy. 8. E =127 MaB.
5. ®Mg+1p > 2Na+ ;He. 6. Am =0,0256 a.a.m.; @ = 23,8 MoaB.
7. Am =0,01549 a.a.m.; BeUTydaenna, @ = 14,4 MoB; E =14,4MsB. 8. ''B+ ;He — "N + ,n.
9. 1gC; 1‘71N+ én - 1gC+ ip. 10. Brinyuaenua, @ = 8,1 MaB. 11. JI3UTpOHBI (fD);
“Mn+ 2D — 2Fe+ in. 12.a) 522Cu; 6) S37Zn; 32Zn. 13. Yrazanue: BbuIiubIne 13deKT Mac.
a) BBUTyvaema; 6) marasiHaenna; B) narasiaenua. 14. 7 Al + ;He — %P + !n; docdap (fg P).

15. IlarasiHaeniia (yka3aHHe: BBLIIUbINE T3(eKT Mac).



IIp. 23. 1. Am =0,24157 a.a.m. 2. m, =7,0547 a.a. M. =1,1711-107° &r.

3. e=7,42-MB 4 o _7074-MB 5 Am-0,10851a.a m.;
HYKJIOH HYKJIOH

e=7,22-MB_ g E_(N)=104,72 MsB; E,, (He) = 28,3 MoB;
HYKJIOH

E,,(0)=131,8 MaB. 7. Am, = 0,50946 a.e.m.; E,, = 474,56 MoB. 8. ¢, = 5,3854 —M2B
HYKJIOH

9. E_,, =319,86 MaB.

IIp. 24. 1. o-yacminmy. 2. YKasaHHe: BBLIiUbIIIe O9(PEKT Mac. 3. YKasaHHe: BLLIiUbIIIe A2(EeKT Mac.
4. AL+ jHe > %P+ jn; NP - 3Si+ le.
5. 90 - UF+ %e. 6. %Po - *%Pb + ja. 7. CrabinbHa, Tamy mTo A3(eKT Mac aaMoyHbl (marpalyenia
suepris). 8. oFe+ in— 3Mn+ {p;; 2oMn — JoFe+ Je. 9. "N+ n— 5C+ p;; “C— "IN+ le..
10. JHe; (H. 11. *2iRa. 12. %5U.

IIp. 25. 1. k, =4,0. 2. £=1,6%. 3. t =145 ragoy. 4. N, =1,8-10*'; N, =5,7-10". 5. m = 0,25 r.
6. T, =3,80 cyrak (pagon). 7. t =1793 rona.

Ip. 26. 1. a) @ =172 M>sB; 6) @ =185 M»sB; B) Q =173 M>sB; r) Q = 168 MaB.





